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Third Year (T.D.C.) Science Examination, 2018

STATISTICS
Paper-I
(Statistical Inference)

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@uz-237) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks.
T S AT €1 e S SR T vt st T A
auft g & i T ¥ |
PART - B (@u=s-) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
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PART - C (@us-w) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks.
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PART - A

(@us-3)

1. Answer the following questions :

Frrefataa weat & sat it -

(i)

(ii)

(iii )
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UNIT - I
(FTE-1)

Define null hypothesis.

Y UfieReaan st gy it |

Define type I*! error.

TUH YR & Ife At aRfim Sifew)
UNIT - I
(¥TE-11)

What is test of significance ?

Treferar TR 1 2
2




(iv) Define t-distribution.
t=Se S TRy Fifv
UNIT - 1
(3%TE-101 )
(v) Define chi-square variate.
FTE T =) Y TR, i |
(vi) Give assumption of F-test.
F-811 %} wfereqand fafay
UNIT - 1v
(3FE-1v )
(vii ) What is leat Square method of estimation ?
LA 3eherh oy o= &2
(viii ) Define assumption of median test.
HifezranT qheror w5t IReherETd fafies |
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UNIT -V
(THE-V)
(ix) Define any one application of SPRT.

SPRT % f&di ts 3vam = fafed |
(x) Define O.C. function of SPRT.

SPRT % O.C. %o i fafed |
PART - B
(Tus-9)
UNIT - I
(3E-1)

2. State and prove Neyman-pearson Lemma.

- frads yafae ) =@ @ fag wifse)
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3. Use Neyman pearson semma to obtain the region for testing
6 =6, against 6 > 0, and 6 = 0, (£6,), in the ease of normal
population N(B, 62), where o2 is known. Hence find the power
of the test.

U JEHE ThE N, 02)aﬁc2ama“réwaﬁffe=eoaﬁ
0>0,3M0=0, (£8y), fores whieror 3 for - Wit

maﬂﬁmméﬁmaﬁﬁqmﬂwaﬁwﬁmﬁmﬁﬁm
UNIT - I

(3&TE-11)
4. How will you test the significance of difference between the

means of two large samples ?

amﬁqsqttﬁwﬁ%w%nwmﬁmﬂmmﬁm

Loy
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5.

Below are given the gain in weights in (kgs.) of pigs food on

.two diets A and B.

Gain in weights

Diet A : 25, 32, 30, 34, 24, 14, 32, 24, 30, 31, 35, 25.

Diet B : 4, 34, 22, 10, 47, 31, 40, 30, 32, 35, 18, 21, 35, 29, 22.
Test if two diets differ significantly as regards their effect on

increase in weights.

Y310 & S giacwl ! Q hR & {91 A 741 B 1 A 39 9Ri
7 =1 gfs 8 -

1R ¥ gfg

HISH A : 25, 32, 30, 34, 24, 14, 32, 24, 30, 31, 35, 25.

A5 B : 4,34, 22, 10,47, 31, 40, 30, 32, 35, 18, 21, 35, 29, 22.

I U foh IR g & wie S geR & isH wuE € @ T2
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UNIT - III

($RT$-111)
6. Describe the chi-square test of independence of attributes.
TOTEET <kt Teesr o forg @ ot wdern w6 i it
7. Write a note on applications of F-statistic.
F-wfaeeis & smuar %mvﬁ faf@aa |

UNIT - IV

(3F3-1V)

8. Describe the method of maximum likelihood estimation. Write

properties of MLE.

e Trfe e 9 Fafe @1 Seorg Fife | sifiEan
[rIferd 3TTeheTehl o T[ON <kt fafed |
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9. Describe sign test.

& TR0 St SRE S |
UNIT -V
(3E-V)
10. What is sequential test ? How will you develop an optimum
test of a specified strenght for a simple null hypothesis versus
a simple alternative ?
ST TIRTOT 1 B2 Tk RO Y1 RehesT & g Sumo
| Sehfegeh aeeT T ¥ U P it % Tean v 5 famrg
M9 HY HAT?
11. Develop the S.P.R.T. for testing H, : 0 =0, against H, : =0,
(>0,) based on a random sample of size n from a population
with p.d.f. f(x,0)= éé’_%, x>0,0> 0. Also obtain its A.S.N.

and O.C. functions.

3181/430 8




12.

T qufe frae wirsa s wem f(x,9)=ée% , x>0,
>0 ¥ THn SRR < Ao Wied W e Spmf wifrwa
I T foerg Ff af H, - 6=6,f®a H, : 0=0, 71

sﬁaﬁmwuﬁaﬁmammaﬁaaw&ﬂmﬁml

PART - C

(3wTE-1)

Explain the concept of most powerful test and discuss how
the Neyman pearson lemma enables us to obtain the most
powerful critical region for testing a simple hypothesis at a

given significance level,
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HANTHHA THEToT i URON B Wy FC wE A T e
TR T HHRY IR Gl /Y - e wdufeas
Shif-eh & 9T e | Y T ¥, gui i
UNIT - IT
(3Tg-1I )
13. (a) State the assumption for t-test of difference of mean.
3t 35 S g -3 ferg e o e

(b) How will you test the significance for the difference of

two proportions ?
mﬁwﬁ%m&maﬁmﬂmmuﬂmﬁﬁ? |

UNIT - III

(3TE-110)

14. (a) State the conditions for the validity of y2-test.

X2-THeT Y e Ry s aieregmedi # fafad
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(b)  Write a short note on Yate's correction.
RECE R e R g <1 feoqoft fafgy |
UNIT - 1V

(3FE-1V )

15. (a) What is difference between parametric and non-

parametric tests.

maaaamqﬁmﬁﬁwml

(b)  Explain median test.

wfearehT Thare =t Teme |
UNIT -V
(3FE-V)
16. (a) Write short note on A.S.N. and O.C, functions of
S.PR.T.
3181/430
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(b)
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STehid Wifeehdl STUTa Uderor & wre gfaes e aun

e stfyeraror W ey feoroft fafed |
Describe moments method of estimation.

aTreheTesh wht et fafy =t ol s
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